10.4-~ @B - ANABC *# > é_é,x s} pliE= BT qj
ADEB -~ BFGC ~ CHIA @ ## = :#3; DEFGHI > %

AB=+6 + AC=+/3 » Bl #7455 ff ek &
= c[100.% 4% ¥ k= tokess ]

[72]:
% BC=x » % /BAC =0
6+3-x> 9-—x?
d 452 T IPF 4rCosh = = — x> =9-6+/2cos@
2643 62

d e A AT ’f,ﬂzrrAABcz%E~E-sin BAC - ADAI =%- A- Al -sin DAI

/BAC + /DAl =180" » .".¥ i# 5= ADAI = AABC
F 12 AEBF = AABC ~ AGCH = AABC
= #75 éha f# = 4AABC +0ADEB +0BFGC +DCH|A=4-(%~J6~J§~sin9)+6+3+ G

= 6+/25in 0 — 6/2 COS 0 +18 =12sin(6 — 45°) +18
L 0=135P > = 755 ff B+ o P ehE ff =12+18 =230

11, 12 ¢2 13 §_ - =& = 4230 ax? +bx+c =03 12 FEF25a+beiE - [100.2 468 7 Yiyk
T A 2 A ]
[72]):

d 42 Gl v Far—=25=b=-25a
a

.25a+b=25a-25a=0

127 3 e &l 345 E L 1 BB P R o R R A PP B TEP R o
[100.% 48 ¢ kolkusigsp:]

[iz]:

n=1pF > 32 152" =3° 1 5% =729+125=854=2x7x61

n=2pF > 32152 =310 1 5° - 50049+ 3125 = 62174 = 2x 7 x 4441

T RFRP=7

d B s kg 3T 5TE L T e ke

(g n=1pF » 32 155" =3° 1 53 -7204125=854=2x7x61= *

(QEn=kpF& = > p3*2 4551 -7t 5 teN
E"J n= k +1 Bé? y 34n+2 + 52n+1 — 34(k+1)+2 +52(k+1)+1 — 4(4k+2)+4 +5(2k+l)+2 — 256 . 44k+2 + 25.52k+1

= 25(4""? +5%1) £ 231. 42 = 25.7t 4+ 7-33.4***
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